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TrigonometryExercise Answers for ID 9124

[T1] =0,

[T2] =n,  [T3]=m,  [T4] =0, [T5]= 32—n
b 3n T Sw 4n
[T6]:z, [T7]:7, [T8]:;, [T9]:T, [T]O]:T
T11 —2—n TI2 - T13 —7—7[ T14 —3—n TI5 i
[ ]_ 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6, ek T17, ek T18 Iz T19 - 120] = Hr
[ ]_ 4 H [ ]_ 6 H [ ] - 6 s [ ] - 6’ [ ]_ 6
[T21] =-1, [T22] =0, [T23] =1, [T24] =0, [T25] =0, ,@
3 1 il
[T26] =-1,  [T27] ="undefined",  [T28] =0,  [T29] ===, [T30]=", "
[T31] =2,  [T32] =@, [T33]:—@, [T34] =—@, [T35] = /2, @
[T36] =1,  [T37] :—@, [T38] =%, [T39] =£, [T40] :—#, @
[T41] =39,  [T42] =-7,  [T43]=-89,  [T44] =20
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TrigonometryExercise Answers for ID 9197

[Tl]=n,  [T2]=0, [T3]=m,  [T4]=0, [T5]=3TTE
76, e T7 —3—n T8 = 79 = T10 —4—n
[]_23 []_27 []_27 []_37 [ ]_3
T11 ek Ti2 72_717 T13 ek T14 1z Ti5 73_75
[ ]_ 3 ’ [ ] - 3 ’ [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6, = Ti7] = Hr Ti8 = T19 —7—n 720 —S—TE
[T16] =7 [TI7] == [T18] =2 [TI9] === [120] ==,
i
[T21] =0,  [T22] =-1,  [T23] ="undefined",  /[T24] ="undefined",  [T25] =-1, S
/3 1 il
[T26]=0,  [T27]=0,  [T2§]=-1,  [T29]=-——,  [T30]=—, "
[T31] = @ [T32] =-2,  [T33] = @ [T34] =— @ [T35] =1, , @
3 1 il
[T36] =2, [T37] ==~ [T38]=7.  [T39] =2, [T40] =43, o
[T41] =16,  [T42] =-3,  [T43] =1,
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[T44] = -26
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TrigonometryExercise Answers for ID 9252
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[T1]=0,  [T2]=0, [T3]=m, [T4]=m,  [T5] :g
76, _éjﬂ 17 - T8 _éil 79 _Elﬂ T10, —ELE
[]_27 [.]_27 [.]_25 []_33 [ ]_3
T11 _ir T12 - T13 Iz T14 EL T15 _2r
[ ] - 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] - 4
ﬂ6‘ﬁ£ 777*§E' ﬂ8**“n T19"E ]ﬂ)*lﬂ
[ ] - 4’ [ ] - 6 H [ ] - 6 H [ ] - 65 [ ] - 6
[T21] =-1, [T22] =0, [T23] ="undefined", [T24] =0, [T25] =1, ,34£
[T26] =0,  [T27] ="undefined",  /728] = "undefined",  [T29] :%, [T30] _—@, @
[T31] =43, [T32) =¥, [T33] =@, [T34] :—@, [T35] =1, @
ﬂ?@:—%& ﬂ?ﬁ:%, ﬂ&ﬂ:—iz, ﬂ@ﬁ:iz, HWW:—E%E, il
[T41] =-19,  [T42] =-252,  [T43] =8,

/
[T44] = -14

TrigonometryExercise Answers for ID 9312
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[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“
18] = i T8 == To) =22 T10) =22
[ ] B 2, [ ] - 2 ’ [ ] - 2’ [ ] = 3 5 [ ] = 3
T ==~ 12 =22 T13] == T14] <L~ .1
[T =7, [T12]=T T3] =T [Tl == [Tis =
T16] =— r17) =2 T18) ==~ T19] ==~ 20 =22
[TI6] =7, [TI7] === [TI8] == [TI9 =, [T20] ==
"0
[T21] =-1,  [T22]=0,  [T23]=0,  [T24] ="undefined",  [T25] =0, A
[T26] =-1,  [T27] ="undefined",  [T28] =-1, [T29]:%, [T30]:@, @
[731]::115; [T32]::2, [133]::ﬁ[§; [7347 :<_3é?; [735]::\/51 __L
[T36] =1, [T37]=§, [T38]:—§,
[T41] =9,
X [Page = 0002]

"y
[T39] =4[3,  [T40] =2, @
[T42] =8, [T43] =4,

[T44] =210
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TrigonometryExercise Answers for ID 9397

[TI] =0,  [T2] =nm,

[T3] ==, [T4] =0, [T5]:§
3n 37 b 41 27
[T6]:T, [T7]:7’ [T8]:;, [T9]:T, [T]O]:T
S5n b S5n T 37
[TI]]:T, [TIZ]:;, [TIS]:T, [T14]:1, [T]5]:T
Tr I1xw b S5n Tr
[T16]:T’ [T17] = 6’ [T18]:E, [T19]:?, [T20]:?
[T21] =0, [T22] =1, [T23] =1, [T24] = "undefined", [T25] =0, ,@
[T26] =1, [T27] = "undefined", [T28] =1, [T29] :%, [T30] ——@, ,@
[T31] =-2, [T32]:#, [T33]:—£, [T34]:—@, [T35]:—«\/;, ,7\
[T36] =1, [T37]:%, [T38]:@, [T39]:¥, [T40]:«/;, ,@
[T41] =5, [T42] =28, [T43] =1, [T44] = -6
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TrigonometryExercise Answers for ID 9449

[T]] =, [T2] =0, /T3] =0, [T4] ==, [T5]:§
41
[T6] = ) [T9] =——

2n

v | a

37
7, [T8] = [T10] =
S5n

T7] =
2 [ ]

3n
z [T12] =—
3 37

3
3n
[T13] = —

. T14) =

&~ |3

3 bl
s
1 [T15] =
Tn 1=
[T16]=T,

Ti7 T18) =
[TI7] === [TI8§] ==~

[T19] = %, [T20] =

[T21] =0,  [T22]=-1,  [T23]=1,  [T24] =0,  [T25] =-1,
[T26] =0,  [T27] ="undefined",  [T28] =0,  [T29] =

%, [T30] =
[T31] =43, [T32]:@, [T33]=—£, [T34]:—£

v
) (135 -2, -
43 |

5

27 T/

=

N

b}

[T36] =+[2,  [T37] =

N 243 I3 "

S sy == my =T =t
2 2 3 /

[T41] =28,  [T42] =-14,  [T43]=2,  [T44] =30
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TrigonometryExercise Answers for ID 9562

[Tl]=n,  [T2]=0, [T3]=0, [T4] ==,  [T5]= 37“
6] = — 7] == 18] =L T =2~ r10] =2
[’ ] - 29 [’ ] - 29 [’ ] - 2 > [’ ] - 3 s [ ]'_ 3
iy = 2% T12] =~ T13] == T14 =22 r15] =2~
[ ] - 3 > [ ] - 39 [ ] - 4, [ ] - 4 > [ ] - 4
T16] =~ r17) ==~ T18] = T19] =— 20 =2
[’ ]'_ 4 > [ ] - 6 > /’ ] - 6 > [ ] - 6’ [’ ] - 6
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =0, , @
[T26] =-1,  [T27] ="undefined",  [T28] =1,  [T29] = % [T30] = @ , @
2 2 \
[T31] =+[3,  [T32]=-2,  [T33] = S my =T [135]- /2, S
3 1 243 \
[T36] =1, [T37] =" [T38]=5.  [T39] = [T40]=2. o
[T41] =51,  [T42]=-2,  [T43] =66,  [T44] =-1
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TrigonometryExercise Answers for ID 9721

[T1] =0, [T2] =, [T3] =m, [T4] =0, [T5]:§
T6, —3—7[ 17, = T8 —3—n 79 = T10 —S—R
[ ] - 2 > [ ] - 29 [ ] - 2 H [ ] - 3’ [ ] - 3
T11 72_717 Ti2 74_75 Ti3 - T14 ek TI15 Iz
[ ] - 3 > [ ] - 3 > [ ] - 47 [ ] - 4 s [ ] - 4
T16, —ﬁ Ti7 —S—TC TiS8 —H—TC T19 —7—TC 720 =
[T16] === [TI7] == 7 [T18] == = [TI9] === [120] ==
[T21] =0, [T22] =-1, [123] =0, [T24] = "undefined", [T25] =0, ,@
[T26] =1,  [T27] =0,  [T28] ="undefined",  [T29] = ;1 [T30] =— @ , @
[T31] =3, [T32] = —i, [T33] = —72, [T34] = —@, [T35] =1, @
[T36] =42, [T37]:%, [T38]:——3, [T39]=@, [T40] =2, @
[T41] =-12,  [T42] =50,  [T43] =11,
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[T44] = -11
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TrigonometryExercise Answers for ID 9789

[T1]=0, [T2]=m,  [T3]=0, [T4] ==,  [T5] :g
76, s 17, —3—ﬂ T8 —3—n 79 _2_1: T10, ==
[ .]_ 2> [ ]'_ 2 s [ ]'_ 2 ’ [ ]'_ 3 s [ ]'_ 3
T11 - T12 _2r T13 _2r T14 - T15 Iz
[ ] - 39 [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, _3r T17, ek T18 Iz T19] = Hr 720 ==
[ ]'_ 4 H [ ]'_ 6 H [ ]'_ 6 ’ [ ]'_ 6 H [ ] 6
[T21] =1, [T22] =0, [T23] =0, [T24] ="undefined", [T25] =1, ,@
[T26] =0,  [T27]=-1,  [T28] =0,  [T29] = % [T30] = - @ , @
[T31] =2, [T32]:@, [T33]=—@, [T34]:@, [T35] =1, @
[T36] =1, [T37]:%, [T38]:—§, [T39]:@, [T40] =43, @
[T41]=-2,  [T42] =94,  [T43]=-9,  [T44] =-22
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TrigonometryExercise Answers for ID 9795

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“

T T 3n Sn 2n
[T6] =", [T7]=",  [T§] =", [T9 =" [TI0]="r~
T11 74_75 Ti2 = Ti3 73_7r Ti4 = Tl5 77_7r
[ ]'_ 3 H [ ] - 37 [ ]'_ 4 ’ [ ‘]_ 47 [ ]'_ 4
Ti6 —ﬂ T17 X TI18 _7_7: T19] = Hn 720 —S—R
[]—4, []—6, []—6, []—6, []—6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =-1,  [T25] =1, , @
3 ! il
[T26] =0, [T27] =1, [T28] = "undefined", [T29] =— BE [T30] = > S
[T31] =2, [T32]:@, [T33]=@, [T34]=—@, [T35] =42, @
[T36] =1, [T37]:§, [T38]:§, [T39] =-2,  [T40] £ @
[T41] =20,  [T42] =-11,
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[T43] =20,  [T44] =8
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TrigonometryExercise Answers for ID 9839

[T1] ==, [T2] =0, [T3] =m, [T4] =0, [T5]:§

T6, —3_TE 77 L T8 —3_TE 79 —4_7t T10 =
[T6)==~  (T]=%, (T8 =" [19)=—  [TI0]=7
[T11] _ar [T12] _2r [T13] _Ir [T14] _ar [T15] EL
3 3 T4 T4 !
T16 T T17 -t TI8 *H TI19 71175 720 *E
[T =7, [T17]=(. [T == [T19] ==~  [120]=—
\
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =0, 4
3 1 1
[T26] =-1, [T27] = "undefined", [/T28] = "undefined", [T29] = —T, [T30] :;, s 7
24/3 2 2 |
[T”]:T[’ [T32] =43, [T33]=—§, [T34]=—§, [T35] =42, #
3 1 24/3 \
[T36] =1, [T37]:—§, [T38]=5, [T39] = -2, [T40]:_T[’ ,4

[T41] =-6,  [T42] =-73,  [T43] =-33,  [T44] =-21
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TrigonometryExercise Answers for ID 9843

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“

T6, —3—7[ 17, - T8 - 79 —S—TE T10, _4_7:
[ ] - 2 > [ ] - 29 [- ] - 29 [- ] - 3 H [ ] - 3
T11 _2n Ti2 - T13 _3n T14 1z Ti5 -
[ ]'_ 3 > [ ] - 37 [ ]'_ 4 > [ ]'_ 4 > [ 4]_ 4
Ti6 —ﬂ T17] = Hr TIS8 —ﬁ T19 _Z 720 —S—R
mej === [T07]=—"  [TI§] ==~ [TI9]="0  [T20] ==/

[T21] =1,  [T22] =0,  [T23] ="undefined",  /T24] ="undefined",  /T25] =1, , @
[T26] =0,  [T27] ="undefined",  [T28] =-1,  [T29] = 31 [T30] =— @ , @
[T31] = -2, [T32]:¥, [T33]=—@, [T34]:@, [T35] =42, @
[T36] =42, [T37]=—§, [T38]=%, [T39] =+[3,  [T40] =2, @

[T41] =14,  [T42]=-11,  [T43] =14,  [T44] =327
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TrigonometryExercise Answers for ID 9854

[Tl]=n,  [T2] =0,

3w
[T3]=0,  [T4] =m,  [T5]=""
3n T T 4 2
[T6]=7, [T7]:;, [T8]:;, [T9]:T, [T]O]:T
T11 - T12 —S—T[ T13 —S—T[ T14 - T15 —3—7[
[ ]_ 39 [ ]_ 3 > [ ]_ 4 > [ ]_ 49 [ ]_ 4
Ti6, 1 T17] = Hr T18 ek T19 - 720, 1T
[ ]_ 4 H [ ]_ 6 > [ ]_ 6 H [ ]_ 6’ [ ]_ 6
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] =-1,  [T25] =-1, @
[T26] =0, [T27] =1, [T28] =0, [T29]:%, [T30]:—£, ﬂ

2 T/
[T31] =4[3,  [T32] = @ [T33] = — @ [T34] =— @ [T35] =42, @
[T37] =— @ [T38] = % [T39] =2, [T40] =43, il

/
[T42] =-51,  [T43] =-32,  [T44] =17

[T36] =1,

[T41] = 19,
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TrigonometryExercise Answers for ID 9862

[T1] =0,  [T2]=m,  [T3]=0, [T4]=m,  [T5] :g
T6, —3—7[ 17, - T8 —3—n T9 _Z T10, —S—R
[]_23 []_23 []_2’ []_3’ [ ]_3

T11 74_7r TI2 72_75 TI3 *S—TE T4 =z TiS5 73_7r
[]—3, []—3, []—4, []—4, []—4
Tn Tn b S5n 11n
[TI16] =—, [T17] =—, [T18] =—, [T19] =——, [T20] =
4 6 6 6
\
[T21] =1, [T22] =0, [T23] =1, [/T24] = "undefined", [T25] =0, ,4
1 |3 i
[T26] =1, [T27] = "undefined", [T28] =-1, [T29] :E’ [T30] :T’ ,7
3 2 2 |
[T31] =2, [T32]:§, [T33]=—§, [T34]:T’ [T35] S 4
3 1 24/3 3 \
[T36] =1, [T37]:§, [T38]=5, [T39]=—T, [T40]:£, i
[T41] =17,
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T/
[T42] =9,  [T43] =487,  [T44] =22
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TrigonometryExercise Answers for ID 10278

[T]] ==, [T2] =0, [T3] =m, [T4] =0, []“5]:377.E

ud 3n x x Rkl

[T6] = X [T7] = 5 [T8]:2, [T9] = 3 [TI10] = 3
2n
3 b

4 REs Tm b
[TIl] =—,  [TI2] = [TI3] =—,  [Ti14] =—,  [TI5] =—
3 4 4 4
Tl6 *H T17 -t TIS8 *H TI19 77_7: T20] = ln
[ ]_ 4 ) [ ] - 6’ [ ] - 6 > [ ] - 6 > [ ] - 6
\
[T21] =0,  [T22] =1,  [T23] =-1,  [T24] ="undefined",  [T25] =0, o
1 I3 \
[T26] =1,  [T27] ="undefined",  [T28] =1,  [T29]=—,  [T30] ="~ o
2 2 \
[T31] =2, [T32] =43,  [T33]=- g [T34] = g (5] =<2, -
-1 3 3 24/3 \
[T36] =1, [T37]:;, [T38]=§, [T39]=§, [T40]:—3 . ,7

[T41] =36,  [T42] =-7,  [T43] =0,  [T44] =-8
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TrigonometryExercise Answers for ID 10361

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“

76 —3—n 17, - T8 - T9 < T10, —4—n
[]_2> []_27 []_27 []_37 [ ]_3
T11 _2n Ti2 ek Ti3 1T T4 - TI5 _3n
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 47 [ ]_ 4
Ti6 —ﬂ T17] = Hr TIS8 —ﬂ T19 _Z 720 _7_7:
mej === [T07]=—"  [TI§] ==~ [TI9]="0  [T20] ==/
[T21] =0,  [T22]=-1,  [T23] =1,  [T24] ="undefined",  [T25] =0, , @
[T26] =-1,  [T27] ="undefined",  [T28] =-1,  [T29] = @ [T30] = % , @
[T31] =-2,  [T32] =@, [T33] :@, [T34] =@, [T35] =1, @
3 ! il
[T36] =42,  [T37] = o [m8= (139 = J3, [ra0) =2, S

[T41] =-157, [T42] =2, [T43] =16, [T44] =13

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKXKXXKXKXKKKXKXKXKXKXKXKXKKKXKXKXKKKXKKKXKXKKXKXKXKKKXKKXKXKKKK
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TrigonometryExercise Answers for ID 10532

[Tl]=m,  [T2]=0,  [T3]=0,  [T4]=m,  [T5] =§
T6) =2~ 7] == 78] =2~ 197 =L T107 ==
[rej=—- [M7]=—, [I§=—"  [T9]=—"7r,  [TI0]=—7
[TI1] L [T12] == TI3)=— [T14] 2 [T15] =—=
37 3 S 4 4
T16) == 117 =2 TI18] =— T19) =% 1207 ==
[ ]_ 4 > [ ] - 6 s [ ] - 65 [ ] - 6 H [ ] - 6
\
[T21]=1,  [T22]=0,  [T23]=1,  [T24] ="undefined",  [T25] =1, 4
1 3 Ji
[T26] =0, [T27] ="undefined",  [T28] = "undefined",  [T29] =,  [T30] ==, S
24/3 3 2 2 |
[T31] :T[, [T32] =§, [T33] = —g, [T34] =§, [T35] =1, 4

[T36] =—[2,  [T37] = —@,

[T41] =22,  [T42] =-9,  [T43] =-15,

[T38] = ?1 [T39] =2, [T40] = - # ,

.

[T44] =27

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KX XXX XXX KX KKK KKXXKX XXX KL XXX XXX KX KKK KXKXKXMS /1-6400301-00018XX
TrigonometryExercise Answers for ID 10688

[T]] =m, [T2] ==, [T3] =0, [T4] =0, [T5]:§
T6, —3—TC 17, - 78 —3—n T9 —S—Tc T10, _2_7:
[]_23 []_23 []_27 []_3’ [ ]_3
T11 _in Ti2 - TI13 _3n T14 ek TI15 Iz
[ ]_ 3 > [ ]_ 37 [ ]_ 4 s [ ]_ 4 s [ ]_ 4
Ti6 _Z T17 —ﬂ T18] = Hr T19 - 720 —7—n
[re] =7,  [T7] === T8 === [TI9] =" [T20] =—¢
[T21] =0, [T22] =-1, [T23] =-1, [T24] = "undefined", [T25] =1, ,@
[T26] =0,  [T27] ="undefined",  /T28] =0,  [T29] = % [T30] =— @ , @
[T31] = 4/3;7 [T32] =-2, [T33] :@, [T34] =@, [T35] =1, ,

= [T39] =+[3,  [T40] =2,

[T41] =8,  [T42] =-22,  [T43] =100,  [T44] =0
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXKXXXXKKKXXXXKKXXXKKKKXXXKKKXXXKKKKXXXKKKXXXKKKKXXKKKKXXKKXK

[T36] =42, [T37]:%, [T38] = — :

.




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXKXXXX XX XXX XX XX KX XXX XX XXKXXXXXM5/1-6400301-00019XX
TrigonometryExercise Answers for ID 10868

[TI] =0,  [T2] =nm,

3w
[T3]=m  [T4]=0,  [T5]="—
3n T T 4 Sn
[T6]=7, [T7]:;, [T8]:;, [T9]:T, [T]O]:T
T11 —2—7[ T12 - T13 —S—T[ T14 —3—7[ T15 Iz
[ ]_ 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] 4
T16, _= T17, 1z T18 _2r T19 - 120] = Hr
[ ]_ 4’ [ ]_ 6 H [ ]_ 6 H [ ]_ 6’ [ ]_ 6
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [724] ="undefined",  [T25] =0, @
3 ! i
[T26]=-1,  [T27]=0,  [T28]=1,  [T29] ===~ [T30] =7, -
[T31] =-2,  [T32] =@, [T33]:@, [T34] =—@, [T35] =1, @
[T36] =1, [T37]:@, [T38]:%, [T39]:@, [T40] =-2, ,@
[T41] =-73,  [T42] = -2,

[T43] =2,  [T44] =35

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXKXXKXXKXXKLX XXX XXX KLX KKK KKK KX XKXX KX KKK XXX KX KKK KXXKXMS /1-6400301-00020XX
TrigonometryExercise Answers for ID 10900

[T1] =0,  [T2] =0,

3
[T3] =m, [T4] ==, [T5]=71T
[T6] =~ 17 == [T8] = an [T9] = o [T10] = Zn
T2’ T2’ T2 37 T3
TI11 74_75 TI2 -t TI13 *S—E T4 77_75 TI15 T
[]—3, []—3, []—4, []—4, []—4
R S5n T Tn 11n
[T16] =——, [T17] =—, [T18] =—, [TI9] =—,  [T20] =
4 6 6 6
\
[T21] = -1, [T22] =0,  [T23] ="undefined",  /T24] = "undefined",  /T25] =1, , g
1 3 Ji
[T26] =0, [T27] = "undefined", [T28] =0, [T29] = [T30] == S
3 2 2 |
[T31] =2, [T32] = g [T33] = g [T34] ===, [T35] =1, #

! 3 2.3 \

[136] =2, [T37] = TR g [T39] =+[3,  [T40] = - —Z— i {
[T41] =-13,  [T42] =-28,  [T43] =18,  [T44] =-42

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXXKXKXXXKKKKXXKXKKXXKKKKXXXKKKXXXKKKKX XX KKKXKXKKKKXXKKKKX KKK
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TrigonometryExercise Answers for ID 11693

[TI] =0, [T2] =m, [T3] =m, [T4] =0, []“5]:377.E
76 =~ 17 =% 78] =— T9] =~ r10) = 2%
[rej=—. [T7]=—  [T8]=7.  [T9]=—7.  [TI0] ==
T11 _2n T12 ek T13 ek Ti4] =— T15 EL
[TH] ===, [T12] ==, [T13]=—7  [TH]="  [TI5]=—,
T16 A,ZJE TI7 A,ZJE TIS A,EJE T19 4711 Y 20 4715
[riej === [TI7] ==~ [TI§] === [TI9]=— = [T20] =7
[r21] =-1, [T22] =0, [T23] =1, [T24] = "undefined", [T25] =1, ,@
/3 1 "0
[T26] =0,  [T27] =1, [T28] =0,  [T29] ===~ [T30] =", S
131] =3, [T32]=@, [T33]=@, [T34]=—@, [T35] =1, @
[T36]=~ﬁ, [T37]:%, [T38]=@, [T39]:ﬁ, [T40] = -2, @
[T41]=-29,  [T42]=-6,  [T43]=13,  [T44] =537

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KX XXX XXX KX KKK KK KKK XXX KL KKK KKK KK XXX KXXKXMS /1-6400301-00022XX
TrigonometryExercise Answers for ID 12097

[T1] =0, [T2]=m,  [T3]=0, [T4]=m,  [T5]= 32—n
T6, I 77 T T8 —3—n T9 I T10 —4—n
[]_23 []_23 []_27 []_37 [ ]_3
T11 *S—E T2 72_75 Ti3 _= T4 77_7r TS5 73_7r
[ ]'_ 3 ’ [ ]'_ 3 ’ [ 4]_ 47 [ ]'_ 4 > [ ]'_ 4
Ti6 —ﬂ T17 X TI18] = Hr TI19 —S—R 720 _7_7:
[]—4, []—6, []—6, []—6, []—6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  /[T24] = "undefined",  [T25] =0, , ﬂ
[T26] =1,  [T27] =0,  [T28] =1,  [T29] = ;1 [T30] = @ , @
[T31] =3, [T32] = —%, [T33] = —@, [T34] = —@, [T35] =1, ﬂ
[136] =A{2. [T37]=§, [T38]=%, [T39] =43, mo]:ﬁ, il
[T41] =-11,
X [Page = 0011]

3 T/
[T42] =5, [T43] =13, [T44] =20
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TrigonometryExercise Answers for ID 12172

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXKXXXM5/1-6400301-00023XX

[T1] =0, [T2]=n, [T3]=n,  [T4]=0,  [T5]= 32—n
76, —3_n 17, - 18 - 79 - T10, —4—n
[.]_25 []_25 []_25 []_35 [ ]_3
T11 _2r Ti2 _2r T13 EL T14 _1r TI5 _2r
[ ] - 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
T16, _= T17, _Aim Ti8 ek T19 - 120, Iz
[ ] - 4’ [ ] - 6 H [ ] - 6 H [ ] - 65 [ ] - 6
[T21] =-1, [T22] =0, [T23] =-1, [T24] ="undefined", [T25] =0, ,@
[T26] =-1,  [T27] =-1,  [T28] = "undefined",  [T29] :%, [T30] _g, @
[T31] =2,  [T32] =—¥, [T33] :—@, [T34] =—@, [T35] =2, 7\
[T36] =1,  [T37] = % [T38] = 73 [T39] =-2,  [T40] = @ , @
[T41] =20,  [T42] =16,  [T43] =19,  [T44] =-2

TrigonometryExercise Answers for ID 12173

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXKXXKXKXXKXKXXKXKXXKX XXX KXKXXKXKXXKXKXXMSE /1-6400301-00024%XX

[T1] =, [T2] =0, [T3] =0, [T4] ==, [T5] :g
=t =T sy =ty =E qrie=2F
[T6] == [T]=". ([T ="r. [T9)="  [TI0]=—
=2 w2 my =t g =2 sy -2
[Tj=7, (M= T3] = [T =T [T15]=
[Ti6] === [T17] === [T18] ==~ [T19=——  [T20]
[T21] =0,  [T22]=1,  [T23]=1,  [T24] ="undefined",  [T25] =0, @
[T26] =-1,  [T27] =1,  [T28] ="undefined", [T29]:%, [T30]:@, @
[T31] =2, ﬁﬂhé, [T33]=—@, [T34]=@, [735] = 1,
[T36] =1,  [T37] =%, [T38] = _ﬁy
X [Page = 0012]

[j S]_ 3
[T4]] =5, [T42] =-211,

[T40] =43,
[T43] =28,

[T44] = -26
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TrigonometryExercise Answers for ID 12180

[T1] ==, [T2] =0, [T3] =0, [T4] =m, [T5]:§

3n 3w i P 4n
[T6]=7, [T7]:T, [T8]:;, [T9]:?, [T]O]:T
T11 —2—7[ T12 —S—TE TI3 —3—n T4 —7—n TI15 =
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 H [ ] - 4
Ti16, ek T17, - T18 ek T19] = Hr 720, 1T
[ ]_ 4 H [ ]_ 6’ [ ]_ 6 H [ ]_ 6 H [ ] - 6
[T21] =1,  [T22] =0,  [T23] =0,  [T24] ="undefined",  [T25] =-1, @
6 1 At
[T26]=0,  [T27]=0,  [T2§]=1,  [T29] ===~ [T30]="—, -
[T31] =-2, [T32]:1/?, [T33]:@, [T34]:—@, [T35] =1, ,@
[T36] =1,  [T37] :%, [T38] =—@, [T39] =A[3,  [T40] =@, @

[T41] =3,  [T42] =18,  [T43]=-25,  [T44] =0

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKXXKXKKXXKLX KKK KEXXKK KKK KL XXX XXX KX XXX KXXKXME /1-6400301-00026XX
TrigonometryExercise Answers for ID 12256

[Tl]=n,  [T2]=n,  [T3]=0, [T4] =0,  [T5] :37“

v B R Y A T
VA S 27 A -3 -3
rg=2E iy =2E L my =2 mg 2R s =R
[THj==27 [T12] == (T3] ==7=  [TH] === [TI5] ==
T T Sn Tn lln
[TI6] == [Ti7]==,  [TI8] ===  [T19]=—=,  [T20] =
4 6 6 6
\
[T21] =1,  [T22]=0,  [T23] ="undefined",  [T24] = "undefined",  [T25] =-I, #
/3 1A
[T26] =0, [T27]=-1,  [T2] ="undefined",  [T29] ===  [T30]=0.  ."-
243 2 2 \
[T31] = ( [132] =3, 133 =—§, [T34] :—g, [T35] =1, #
3 -1 3 \
[136] =2, [137] =~ g (s8] =7, (139 =3, [140) - b g
[T41] =0,  [T42] =356,  [T43]=-18,  [T44] =-17
X [Page = 0013]
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TrigonometryExercise Answers for ID 12278

[T1] ==,

[T2] =m, [T3] =0, [T4] =0, [T5]:§
76, _3_75 17 - T8 —3—n 79 - T10, _2_1:
[]_27 []_27 []_23 []_33 [ ]_3
T11 _ir Ti2 _2r T13 _2r T14 EL TI5 _1r
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
T16, _= T17, ek T18 1z T19] = Hr 120 -
[ ]_ 4’ [ ]_ 6 H [ ]_ 6 H [ ]_ 6 H [ ]_ 6
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] =1,  [T25] =1, @
3 14
[T26] =0, [T27] ="undefined",  [T28] ="undefined",  [T29] =—=—,  [T30] =", -
[T31]:#, [T32]:T3, [T33] —@, [T34] —@, [T35] =1, @
[T36] =A[2,  [T37) :%, [T38]:—@, [T39] =@, [T40] =2, @
[T41] =8,  [T42] =10,  [T43] =-12,  [T44] =179

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXKXXKXXKXXKLXXKXKKXXKX KKK KX XKX XXX KX KKK XXX KX XXX KXXKXMS /1-6400301-00028%XX
TrigonometryExercise Answers for ID 12482

[T1] =0,

[T2] =n,  [T3]=m,  [T4]=0, [T5] :g
T6, —3—7[ 17, —3—n T8 i~ 79 —ﬂ T10 _Z
[]_23 []_2’ []_2’ []_3a [ ]_3
T11 72_717 Ti2 ek Ti3 1T T4 73_75 Ti5 -
[]_35 []_35 []_45 []_4’ []_4
Ti6, —ﬂ Ti7 —7—TC TiS8 —H—TC T19 = 720 —S—R
[T16] == [TI7]== [TI§] ==~ [TI9] =",  [120] ="
[T21] =0,  [T22]=-1,  [T23] =1,  [T24] ="undefined",  [T25] =-1, , @
[T26] =0,  [T27] =1,  [T28] =0,  [T29] = ;1 [T30] =— @ , @
[T31]:#, [T32] =43, [T33]:—£, [T34]=@, [T35] =42, @
[T36] =1, [T37]:£, [T38]=%, [T39]:—¥, [T40] =2, W
[T41] = 63,
X [Page = 0014]

T/
[T42] =62,  [T43] =18,  [T44]=-13
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TrigonometryExercise Answers for ID 12586

[T]] ==, [T2] =m, [T3] =0, [T4] =0, []“5]:377.E

767 = 2= 7] == 78] =— 9] == 7107 =2~
[]—2, []—2, []—2, []—3, [ ]—3
iy =2 iy < sy oI g =2 sy =2k
37 37 4 4 4
Ti6] =— 717] =L T18) == T19] == 20 =&
[]—4, []_6’ []_6’ []_6’ []—6
\
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] = "undefined",  [T25] =0, 4
1 I3 Ji
[T26] =1, [T27) ="undefined”,  [T28] ="undefined’,  [T29] =7,  [T30] ==~ -, S
2 2 \
[T31] =2,  [T32] =43, [T33]:§, [T34]=—§, [T35] =1, 4
1 3 243 \
[ms=—2, 1377 =7, [T38]:§, [T”]:‘T[’ [140] =2, #

[T41] =8,  [T42] =-10,  [T43] =-23,  [T44] =-23

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXXX KK XXX KKXXKX KKK KKXXKK XXX KL XXX XXX KX KKK KXXKXMS /1-6400301-00030XX
TrigonometryExercise Answers for ID 12677

[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§

o) =% =2t sy = o =2E g =2
2 2 2 3 3
27 L3 L3 RE S5m
[TH]="70  [T12] =7, [T13] =7 [T14 =", [TI5] ="
Tn T 11n Tr 5w
[TI6] == [TI7]=".  [TI§=— .  [T19]="—~.  [T20]="~

[T21] =0, [T22] =-1, [T23] =-1, [T24] =0, [T25] =-1,

i
VER[)

1
[T26] =0, [T27] ="undefined",  [T28] ="undefined",  [T29] ==, [T30] ==, ,

3 2 2 |
[T31] =2,  [T32)] =§, [T33] = —g, [T34] =§, [135] =2, ,£
3 -1 3 |
[T36]=~«/E, [T37]=§, [T38]:;, [T39] =-2, [T40]:§, ,g
[T41] =1, [T42] =-13, [T43] =29, [T44] =-14
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXXKXKKXXXKKKXKXXKKXKKXXXKKKKXXXKKKXKXXKKKKX XX KKKKXKKKKXXKKKKX KKK
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TrigonometryExercise Answers for ID 13490

[TI] =0,  [T2] =nm,

3n
[T3]=m  [T4]=0,  [T5]="—
76, = 17 = T8 _3_75 79 —2—n T10, _4_n
[]_29 [.]_29 [.]_27 []_33 [ ]_3
T11 - T12 —S—TE T13 = T14 —S—TC T15 —3—n
[ ]_ 39 [ ]_ 3 > [ ]_ 4, [ ]_ 4 > [ ]_ 4
Ti6, 1 T17] = Hr T18 1 T19 _2r 720 -
[ ]_ 4 H [ ]_ 6 > [ ]_ 6 H [ ]_ 6 H [ ]_6
[T21] =0,  [T22] =1,

[T23] = "undefined",  [T24] =1,  [T25] =0,

e

1 3 1
[T26] =1, [T27] ="undefined”,  [T28] = "undefined”,  [T29] ==, [T30] ==~ -
[T31] = % [T32] =2, [T33] = @ [T34] = @ [T35] = 1, : @
[T36] =42, [T37] = ?1 [T38] = — @ [T39] =A[3,  [T40] = -2, , @
[T41] =-15,  [T42] =51,  [T43]=2,  [T44] =-18

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXX KX XXX XKXXKX KKK KKXXKX XXX KL XXX XXX KX KKK KXXKXMS /1-6400301-00032XX
TrigonometryExercise Answers for ID 13500

[T1]=0,  [T2]=m,

[T3] =0, [T4] ==, [T5]:§
T6, —3—7[ 17, —3—n T8 _Z T9 —4—TC T10 _Z
[]_23 []_2’ []_2’ []_3’ [ ]_3
T11 ek Ti2 _2n Ti3 - T14 1z TI15 ek
[ ]_ 3 > [ ]_ 3 > [ ]_4a [ ]_ 47 [ ]_ 4
Ti6 —ﬁ T17 —ﬁ T18 —H—TC T19 —S—TC 120 _Z
[rej ==, [I07]==~  [TI§ ==~ [TI9] === [T20] ="
[T21] =1,  [T22] =0,

[T23] ="undefined",  [T24] =1,  [T25] =1,

[T26] =0,  [T27] ="undefined",

e

[T28] = "undefined",  [T29] = % [T30] = - @ , @
[T31] :%, [T32] =2, [T33] :@, [T34] = - @ m3s)=1, @
[T36] =+[2,  [T37] = é [T38] = @ [T39] = % [T40] =43, @
[T41] =2,
X [Page = 0016]

,
[T42] =2,  [T43]=-1,  [T44] =-482
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TrigonometryExercise Answers for ID 13637

[Tl] =n,  [T2] =0,

[T3] =0, [T4] =m, [T5]:§
76, —3—ﬂ 17 - T8 —3—n 79 _5_1: T10, _4_1:
[]_27 [.]_27 [.]_25 []_33 [ ]_3
T11 - T12 _2r T13 EL T14 1z TI5
[ ]_ 39 [ ]_ 3 > [ ]_ 4 > [ ]_ 4 > [ ]
Ti6, ek T17, ek T18 _Ar T19 1z 720 -
[ ]_ 4 H [ ]_ 6 H [ ]_ 6 H [ ]_ 6 H [ ]_ 6
[T21] =0,  [T22] =1,

[T23] = "undefined",  [T24] =0,  [T25] =0, ,
3
[T26] =1, [T27] ="undefined",  [T26] =-1.  [T29] ==~

=

1
130 =, -
[T31] =43, [T32]:¥, [T33] :@, [T34] —@, [T35] =42, @
T3 <1, [T37 =~ 73] :—ﬁ, e I EE :ﬁ, ﬂ
2 2 3 3 /
[T41] =42,  [T42] =5,  [T43] =142,  [T44] =-17

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKXXKXKKXXKX KKK KKXXKX XXX KL XXX XXX KX KXXKXKKKMS /1-6400301-00034XX
TrigonometryExercise Answers for ID 645101

[Tl =n,  [T2] =0,

3n
[T3]=0,  [T4]=m  [T5]="
T 3n b b 4n
[T6] =2, [T7]="r  [T8]=",  [T9 =",  [TI0]=—r
Tl *S—E Ti2 72_75 Ti3 73_75 Ti4 77_75 Ti5 =
[ ]_ 3 ’ [ ]_ 3 ’ [ ]_ 4 ’ [ ]_ 4 > [ ]_ 4
Ti6 —ﬂ T17 —S—TC TI8, —H—TC TI19 X 720 _7_7:
[]—4, []_6’ []_6’ []_6’ []—6
[T21] =-1, [T22] =0, [T23] = "undefined", [T24] =0, [T25] =0, ,@
[T26] =1,  [T27] ="undefined",  [T28] =-1, [T29]:%, [T30]:@, @
[T31] =2,  [T32] = @ [T33] = @ [T34] = @ [T35] =1, , ﬂ
[T36] =2, [T37]=@, [T38]:%, [T39]=@, [T40]:%, @
[T41] =-42, [T42] =69,
X [Page = 0017]

[T43] =-18,  [T44] =38
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TrigonometryExercise Answers for ID 645102

[Tl]=n, [T2]=nm,

37
[T3] =0, [T4] =0, [T5]:T
T T 37 41 b
[T6]:;, [T7]:;, [T8]:T’ [T9]:T, [T]O]:;
T11 —S—T[ TI2 _2_75 T13 —7—n T4 —3—n TS5 T
[ ]_ 3 B [ ]_ 3 B [ ]_ 4 B [ ]_ 4 > [ ]_ 4
S5n S5n I1n Tr b1
[T16]:T, [T17]:?, [T18]:T’ [T19]:7, [TZO]ZE
[T21] =0, [T22] = -1, [T23] = "undefined", [T24] =0, [T25] =-1, ,@
[T26] =0, [T27] = "undefined", [T28] =1, [T29] :%, [T30] —@, ,@
[T31]:1/;, [T32]:@, [T33]:—@, [T34]:—£, [T35] = £

2’
[T36] =1,  [T37] =—

o=
<|

8 [T38]:%, [T39]:@,

[T42] = -28,

[T40] = -
[T41] =21,

:
NS

[T43] =1,  [T44] =326
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TrigonometryExercise Answers for ID 645103

[T1] =0,  [T2] =0,

3
[T3] ==, [T4] ==, [T5]=TTE
[T6]—£ [T7]—3—n [TS]—E [T9]—4—TE [TIO]—S—Tc
T T2 S’ 37 3
Tl1 72_15 Ti2 I Ti3 = Ti4 *S—Tt T15 *7—n
[ ]_ 3 > [ ] - 37 [ ] - 4> [ ] - 4 > [ ] - 4
3n 5n Tn T 11n
[T16] =—, [T17] =—, [TI18] =—, [T19] =—, [T20] =
4 6 6 6
Jr
[T21] =1, [T22] =0, [T23] = "undefined", [T24] =1, [T25] =0, -

[T26] =1,  [T27] ="undefined",  [T28] =0,  [T29] =

[T31] = # 2

-k

-1
- T30] =
5 [T30]

/
v
/
(132 =2, [T33] == [T34] =~ @ [T35] =2, . @
[136] =A[2,  [T37] = @ [T38] = % [T39] = — % [T40] = @ , @
[T41] =11,  [T42] =-15,
X [Page = 0018]

[T43] =-13,  [T44] =-6
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TrigonometryExercise Answers for ID 645104

[T1] ==, [T2] =m, [T3] =0, [T4] =0, [T5]:§

e =2 =2 oy =t oy =E o=
2 2 2 3 3
[TI]]=_4TE, [TIZ]ZE, [T13]=£, [T]4]=_7n, [T]5]=_5n
3 3 4 4 4
RE S5n 11n g T
[T16]:T, [T17]:?, [T18]:T’ [T19]:?, [T20]:E

[T21] =0,  [T22]=1,  [T23]=1,  [T24]=0,  [T25]=-1, @
[T26] =0,  [T27] ="undefined",  /T28] = "undefined",  [T29] = % [T30] =— @ , @
[T31] =-2,  [T32] =— # [T33] =— @ [T34] =— @ /1357 =42, , @
[T36] =1,  [T37] =— @ [T38] = ;1 [T39] = # [T40] =3, , J/T
[T41] =8,  [T42] =56,  [T43] =53,  [T44] =0

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KK XXX KKXXKX KKK KKXXKX XXX KL KKK XXX KX XXX KXXKXMS /1-6400301-00038XX
TrigonometryExercise Answers for ID 645105

[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§

T6] =~ 7] == 18] =L T =% Ti0) =2
[]_23 []_23 []_27 []_3’ [ ]_3
iy =22 T12] == T13] =— T14 =22 T15] =—
[ ]_ 3 H [ ] - 37 [ ] - 4> [ ] - 4 > [ ] - 4
T16) == T17] == T18) == T19) = LX 20 =&
[]—4, []_6’ []_6’ []_6’ []—6
[T21] =-1,  [T22] =0,  [T23]=0,  [T24] =-1,  [T25] =-1, , @
[T26] =0,  [T27] =0,  [T28] = "undefined", [T29]=%, [T30]=—@, @
[T31] =43, [T32] =2, [T33]:—@, [T34]=£, T35 =1, J/T
[T36] =42, [T37]=%, [T38]=—§, [T39]:@, [T40] =43, @
[T41] =2, [T42] =-645,
X [Page = 0019]

[T43] =-42,  [T44] =6
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TrigonometryExercise Answers for ID 645106

[T1] ==, [T2] =m, [T3] =0, [T4] =0, [T5]:§
76, _3_75 17 —3—n 18 - 79 —ﬂ T10 ==
[ ]_ 2 ’ [ ]_ 2 s [ ]_ 2> [ ]_ 3 4 [ ]_ 3
T11 _2r T12 _2r TI3 _—= T4 == TI15 =
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 4 H [ ]_ 4
Ti16, _3r T17] = Hr T18 ek T19 1z 720 -
[ ]_ 4 H [ ]_ 6 H [ ]_ 6 H [ ]_ H [ ]_ 6
[T21] =0,  [T22] =1,  [T23]=0, [T24]=-1,  [T25] =0, 7\
[T26] =-1, [T27] =-1, [T28] = "undefined", [T29] :%, [T30] ——@, ,@
[T31] = @ [T32] =43, [T33] = @ [T34] = @ [T35] =1, , @
[T36] =1, [T37]:@,

[T38] = ?1 [T39] = @ [T40] =43,

[T41] =16,  [T42] =-12,

R

[T43] =9,  [T44] =-1

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KK XXX KKXXKX KKK KX XKX XXX KL XXX XXX KX KXXKXKXKKMS /1-6400301-00040XX
TrigonometryExercise Answers for ID 645107

[T1] =0, [T2] =0, [T3] =m, [T4] ==, [T5]:§
T6, —S—TC T7 —3—n T8 = 79 _2_7: T10 _4_7:
[ ] - 2 > [ ] - 2 > [ ] - 2’ [ ] - 3 H [ ] - 3
T11 - Ti2 ek T13 _= T14 *3—n T15 Iz
[ ]_ 37 [ ] - 3 s [ ] - 4> [ ] - 4 ’ [ ] - 4
Ti6, —ﬂ Ti7 —S—TC TiS8 = T19 —7—TC T20] = Hr
[T16] === [TI7] == 7 [TI18] =2, [To] === [120] =
[T21] =-1,  [T22]=0,  [T23]=0,  [T24]=-1,  [T25] =-1, , @
[T26] =0,  [T27] ="undefined",  /T28] = "undefined",  [T29] =— ﬁ [T30] = % , @
[T31] = @ [T32] =-2,  [T33] = @ [T34] = — ﬁ [T35] =1, , @
[T36] =2, [T37] = @ [T38] = ;1 [T39] =2,  [T40] =— # , @
[T41] =-19,  [T42] =-78,  [T43] =-51,
X [Page = 0020]

[T44] =2
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TrigonometryExercise Answers for ID 645108

[Tl] =x,  [T2]=m,

[T3] =0,  [T4]=0,  [T5] =§
T6] = 7] == 78] =L 107 =21 T10] =—
[ ] - 2 > [ ] - 27 [ ] - 2 s [ ] - 3 > [ ] - 3
iy =L 12 = 2% T13) =1~ T14) =L TI5] =~
[ ] - 3 B [ ] - 3 B [ ] - 4 B [ ] - 4 > [ ] - 4
T16] =2~ T17] == 718] = T19) == 20 =2
[ ]_ 4 > [ ] - 6’ [ ] - 6 H [ ] - 6 ] [ ] - 6
[T21] =0,  [T22]=-1,  [T23] =0,  [T24] =-1,  [T25] =1, @
3 1 1
[T26] =0, [T27] ="undefined”,  [T2§] ="undefined’,  [T29] ===, [T30] =, i
[T31] =@, [T32] =3, [T33] =—@, [T34] :@, [T35] =2, @
[T36] =A[2,  [T37] = @ [T38] = % [T39] =A[3,  [T40] = @ , @
[T41] =9,  [T42] =16,  [T43]=-72,  [T44] =9

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKEXXKXKKXXKX KKK KX KKK XXX KL XXX XXX KX XXX KXKKXME /1-6400301-00042XX
TrigonometryExercise Answers for ID 645109

[Tl]=n,  [T2] =0,

[T3]=x,  [T4] =0,  [T5] :g
T6] =L 7 =L 78] =— o] = 2% T10] ==
[]_23 []_2’ []_2’ []_3a [ ]_3
11y =22 12 =% T13] =22 T14) == TI5] =—
[ ]_ 3 H [ ] - 3 H [ ] - 4 H [ ] - 4 s [ ] - 4
T16) == r17) = 2% r18) =~ T19] ==~ 20 ==
[]—4, []_6’ []_6’ []_6’ []—6
[T21] =1,  [T22]=0,  [T23]=0,  [T24]=-1,  [T25] =-1, @
[T26] =0,  [T27] =-1,  [T28] = "undefined", [T29]:%, [T30]:§, @
[T31] = —é, [T32] =2,  [T33] = —@, [T34] = — @ [T35] =1, , @
[T36] =42, [T37]=—@, [T38]:%, [T39]:@, [T40] =43, i
[T41] =-18,
X [Page = 0021]

/
[T42] =0,  [T43] =45,  [T44] =-32
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TrigonometryExercise Answers for ID 645110

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXKKXXXM5/1-6400301-00043XX

[Tl]=n,  [T2]=0, [T3]=m,  [T4]=0,  [T5] =§
T6] = 7] == 78] =L 9] =— T10] ==
[]_27 []_27 []_23 []_33 [ ]_3
i =22 12 =2 T13) =1~ T14] =~ r15) =22
[ ] - 3 B [ ] - 3 B [ ] - 4 B [ ] - 49 [ ] - 4
T16] =2~ r17) =% T18] = T19] =— 20 ==
[ ]_ 4 > [ ] - 6 > [ ] - 6 > [ ] - 6’ [ ] - 6
[T21] =1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =0, @
[T26] =-1,  [T27] = "undefined",  [T28] =0, [T29]:%, [T30]——@, @
[T31] =43, [Tszjz—i, [T33]:—@, [T34]:—@, [T35] =2, @
[T36] =42, [T37]:§, [T38]:_;, [T39]:@, [T40] =43, @
[T41] =-12,  [T42] =20,  [T43] =-1,  [T44] =-24

TrigonometryExercise Answers for ID 645111
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[Tl]=n,  [T2]=0, [T3]=n,  [T4] =0,  [T5] :37“
s -F =t myet. o= mop-T
[16]==r [17]=7. [T8]=0. [19=".  [TI0] =
T11y =2 112y =% T13] == T14) =% 7157 =%
[TH] =" [T2l=—r. [Ty =7.  [Tl4]="_.  [TI5]="
Ti6 _,ij T17 __11 Y 718 __JE 10 __Eiﬁ_ 0 __:ZIE
[ ]_ 4 ’ [ ]_ 6 ’ [ ]_ 6’ [ ]_ 6 > [ ]— 6
[T21] =0,  [T22] =1,  [T23]=-1,  [T24] ="undefined",  [725] =0, , @
3 -1 Jr
[T26] =-1,  [T27] =0, [T28]=-1,  [T29] ==~ [T30] =", -
[131] =43, [T32]=—£, [T33]=—@, [T34]=@, (7357 =2, @
(136] =A/2, [T37J=§, [T38]=g, [T39]=—2f, [T40]:£, i
[T41] =-14, [T42] = 15,
X [Page = 0022]

3 T/
[T43] = -20, [T44] =6
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TrigonometryExercise Answers for ID 645112
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[Tl]=n,  [T2] =0, [T3]=0, [T4]==n,  [T5]= 32—n
76, = 17 _3_75 T8 - T9 —4—n T10, _2_1:
[]_29 [.]_27 []_27 []_33 [ ]_3
T11 _2r TI2 - T13 = T14 1z T15 _2r
[ ]_3> [ ]_33 [ ]_4, [ ]_43 [ ]_4
Ti6, _3r T17] = Hr T18 1 T19 - 720, ek
[ ]_ 4 H [ ]_ 6 > [ ]_ 6 H [ ]_ 6’ [ ] - 6
[T21] =1,  [T22] =0,  [T23] =-1,  [T24] ="undefined",  [T25] =-1, @
3 14
[T26] =0, [T27] ="undefined",  [T28] = "undefined",  [T29] ===, [T30] =", -
[T31] =2, [T32]:@, [T33]:@, [T34]=@, [T35] = /2, 7\
[T36] =1, [T37]:—£, [T38]:i, [T39]:£, [T40]:—£, £
2 2 3 3 /
[T41] =-58,  [T42] =9,  [T43] =17,  [T44] =-111

TrigonometryExercise Answers for ID 645113
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[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“
16 =25 =t my=t gy =t g =T
[T5]==~  [T7]=7. [T8=2. [19=—. [TI0]=7
11y =22 127 =22 13) = 2% 7147 -2 T Pk
[Tl] =75~ [T2]=—  [T13="_ [Tl =" [TI5]="
T16] =— T17) =~ T18) =T T19] == 120 = L2
[TIs] =", [T17]="  [TI§==—— [T =",  [T20] ="
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =0,  [T25] =1, @
3 1 "0
[T26] =0, [T27] ="undefined",  [T28] =0,  [T29] ===~  [T30] =7, -
[T31] =2, [T32]=£, [T33]:£, [T34]:_@7 [T35] =1, ’
[736]::—ﬂ/5, [TBZ]::jgiy []38];;&; [T39] =2,
[T41] = 14,
X [Page = 0023]

[Mw=3%i
[T42] =6, [T43] =-27,

[T44] =17
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TrigonometryExercise Answers for ID 645114

[T]] ==, [T2] =0, [T3] =0, [T4] ==, []5]::251

6] =— 7] =L 78] =— 9] =— T10] ==
[.]_27 [.]_25 []_25 []_35 [ ]_3
iy =22 12 =22 r13) =L T14 =L T15) =1~
[ ] - 3 > [ ] - 3 > [ ] - 4 B [ ] - 4 B [ ] - 4
Ti6] =— 17 =% T18] =— T19) =% 7207 =1
[ ]_ 4’ [ ]_ 6 > [ ]_ 6’ [ ] - 6 s [ ]_ 6
[T21] =1,  [T22] =0,  [T23] =-1,  [T24] ="undefined",  [T25] =0, @
3 1 1
[T26] =-1,  [T27] ="undefined’,  [T28] =-1,  [T29]="=  [T30] =, i
[T31] =— % [T32] =3, [T33] = @ [T34] = — @ [T35] =42, , @
[T36] =1,  [T37] = @ [T38] = ;1 [T39] = # [T40] = @ , @

[T41] =242, [T42] =4,  [T43] =24,  [T44] =-27

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXKXXKXXKXX KK XXX KKXXKLX KKK KKXXKX XXX KL XXX XXX KK KKXKXXKXMS /1-6400301-00048XX
TrigonometryExercise Answers for ID 645115

[T1] =0,  [T2]=n, [T3]=n, [T4] =0, [T5] :37“

T6, _Z 17, _Z 78 —3—7[ 79 —4—n T10, —S—R
[]_2a []_2a []_23 []_3’ [ ]_3
T

T11 _2n Ti2 - TI13 Iz T14 _3n TI15 ek
[ ]_ 3 > [ ] - 37 [ ] - 4 s [ ] - 4 s [ ] - 4
Ti6 _Z T17] = Hr T18 - T19 —S—TE 720 —7—n
[re] =7,  [T7] == [TI8] =" [TI9] ==~ [T20] =—¢
[T21] =0,  [T22] =-1,  [T23] ="undefined",  /[T24] =0,  [T25] =1, , @
[T26] =0,  [T27] =0,  [T28]=-1,  [T29] :%, [T30] = —@, @
[T31]=-2,  [T32] =43,  [T33]=- @ [T34] =— @ [T35] =1, @
[T36] =42, [T37]:@, [T38]:§, [T39] =-2, [T40]=@, @

[T41] =-4,  [T42] =-87,  [T43]=-21,  [T44] =-6
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TrigonometryExercise Answers for ID 645116

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXKXXXKXXXKXXXM5/1-6400301-00049XX

[T]] ==, [T2] =0, [T3] =0, [T4] == []“5]:377.E
67 - 7] =~ T8 == 1oy =% T10) =2~
[T6] =" [T7]=". [T§=_. [T =—r.  [TI0]="
iy =22 iy X 7137 < & 1 L.
[]—3 []—3, [TI3] =—, []—4, []_4
TY6 AJEJE T17 4711 T 778 4711 779 Aigzlg 120 Aiillg
[TI6] == [TI7]== . [TI§ =" [TI9]="".  [T20]="
[r21] =-1, [T22] =0, [T23] =1, [T24] = "undefined", [T25] =0, ,@
3 1 "
[T26] =-1,  [T27] ="undefined",  [T25] =0,  [T29] ==, [T30] =7, i
[T31]:—#, [T32] =43, [T33]—@, [T34]:§, /1357 = /2, 7\
[T36] =1, [T37]=—§, [T38]—%, [T39] =2, [T40]=«/1 @
[T41] =2, [T42] =74, [T43] = - [T44] = -7

TrigonometryExercise Answers for ID 645117

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXKXXKXKXXKX XXX XK XXX XXX KXKXXKXKXXKXKXXMS /1-6400301-00050XX

[T1] =0, [T2] =0, [T3] =m, [T4] ==, [T5]—37
T6 —3—7[ T7 z T8 T T9 5— T10 _4_7:
[]—2, []—2 []—2, []—3 []—3
i 27 S5n b
[T[]]—; [TI12] =——, [T13]:T, [T14]:T, [T15] =—
TI16 —STC T17 —7—TC T18 —H—TC TI19 —S—TC T20 I
[T16] = []_6’ []_6’ []_6’ []—6
[T21] =0, [T22] =1, [T23] =0, [T24] =1, [T25] =0, ,@
/3 1 il
[T26] = - [/T27] = "undefined", [T28] =-1, [T29] :—T, [T30] :E, ,7
[T3]]:«/;, [T32]:@, [T33]=—@, [T34]:@ [T35]=«/E, ,@
[T36]:—«/E, [T37]=—@, [T38]:§, [T39]:¥, [T40]=«/;, ,@
[T41] =4, [T42] =15, [T43] =16
X [Page = 0025]

. [T44] =-7
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TrigonometryExercise Answers for ID 645118

[TI] =0,  [T2] =nm,

[T3] =0, [T4]=m,  [T5] :g
76, —3—ﬂ 17 —3—n 18 - 79 _2_1: T10, _5_1:
[]_27 [.]_25 []_25 []_33 [ ]_3
T11 _ir TI2 - T13 = T14 _2r T15 Iz
[ ]_ 3 > [ ] - 39 [ ] - 4, [ ] - 4 > [ ] - 4
Ti6, _3r T17] = Hr T18 - T19 ek 720, 1T
[ ]_ 4 H [ ]_ 6 > [ ] - 65 [ ] - 6 H [ ] - 6
[T21] =1, [T22] =0, [T23] ="undefined", [T24] =0, [T25] =0, ,@
[T26] =-1,  [T27] ="undefined",  [T28] =0,  [T29] _@, [T30] :%, @
[T31] =43, [T32] =2, [T33]:@, [T34] =—@, [T35] =1, @
[T36] =1, [T37]:§, [T38]:—@, [T39]:¥, [T40]:@, ,@
[T41] =-1,  [T42] =129,

[T43] =-12,  [T44] =13
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TrigonometryExercise Answers for ID 645119

[T1] =0, [T2] =m, [T3] =m, [T4] =0, [T5]:§

[T6] in [T7] u [T8] in [T9] n [T10] 4n
27 A 27 37 3

T S5n 3n S5n Tn

[Tl1l] =—, [TI12] =——, [TI3] =—, [T14] = A [T15] =——
3 4 4 4

TI16 z T17 in TI18 z T19 n 720 n
[ ]_ 45 [ ]_ 6 ) [ ]_ 65 [ ]_ 6 B [ ]_ 6

[T21] =0,  [T22]=-1,  [T23] ="undefined",  [T24] =0,  [T25] =1,

5

N

[T26] =0,  [T27] ="undefined",  [728] =1,  [T29] = ;1 [T30] =— @ , “//T
[T31] =2,  [T32]=4/3,  [T33] = g [T34] =— @ [T35] =—/2, , /\
[T36] =1, [T37]:%, [T38]:§, [T39]=¥, [T40]:£, ,@
[T41] =-12,  [T42]
X [Page = 0026]

294, [T43] =-2,  [T44] =33
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TrigonometryExercise Answers for ID 645120

[T]] ==, [T2] =m, [T3] =0, [T4] =0, []“5]:377.E

76, - 17 —3—n 18 - 79 - T10, —4_n
[.]_27 [.]_25 []_25 []_35 [ ]_3
T11 _2r T12 _2r TI3 EL T4 - T15 ==
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, 1 T17, - T18] = Hr T19 ek 720, i
[ ]_ 4 4 [ ]_ 6’ [ ]_ 6 > [ ] - 6 H [ ] - 6
[T21] =1,  [T22] =0,  [T23] =-1,  [T24] ="undefined",  [T25] =0, , 7\
[T26] =1,  [T27] ="undefined",  [T28] =0,  [T29] = @ [T30] = % , 7\
[T31] =43, [T32) =¥, [T33] =@, [T34] :@, [T35] =1, 7\
[T36] =—[2,  [T37) =%, [T38]:—@, [T39] =#, [T40]:@, 7\
[T41] =12,  [T42] =-4,  [T43] =-10,  [T44] =48

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXKXXKXX KX XXX KKXXKX KKK KX KKK XXX KL XXX XXX KX KKK KXXKXMS /1-6400301-00054XX
TrigonometryExercise Answers for ID 645121

[T1]=0,  [T2]=0, [T3]=n,  [T4]=n,  [T5]= 37“

e B B S B R B L e
27 S’ T 37 3
iy =22 T12] =— T13) =~ T14) =2~ T15] =—
[]—3, []—3, []—4, []—4, []—4
T16) =~ T17]) == T18) =~ T19) = L2 20 =22
[ ] - 4 ) [ ] - 65 [ ] - 6 H [ ] - 6 H [ ] - 6
\
[T21] =-1,  [T22] =0,  [T23]=-1,  [T24] = "undefined",  [T25] =0, #
1 A3 "0
[T26] =<1, [127] =0,  [126] ="undefined’,  [T29] =7,  [T30] ==~ S
2 2 \
[T31]=-2,  [T32] =43, [T33]:—{, [T34] =" [135] = 1, 4
3 1 3 \
[T36] =1, [T37]=§, [T38] =5, [139] =2, [T40]:§, g
[T41] =-1,  [T42] =0,  [T43] =24,  [T44] =-10
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TrigonometryExercise Answers for ID 645122

[T]] ==, [T2] =0, [T3] =m, [T4] =0, []“5]:377.E

o =%y =2E oy =L =t e =
2 2 2 3 3
[T]]]=£, [T]2]=_2n, [T]3]=_7n, [TI4]=_3T[, [T15]=_5
3 3 4 4
[T16] =, [T17]:7—n, [TI8] ==, [T19] = Hr [T20] =—
4 6 6 6

T
4
Sn
6
i
s

[T21] =1,  [T22]=0,  [T23]=0, [T24]=1,  [T25]=-1,

[T26] =0,  [T27] = "undefined”,  [T28] =0,  [T29] = @ [T30] = % , @
[T31] :#, [T32] =3, [T33] = —@, [T34] :ﬁ, [T35] =2, 7\
[T36] =1,  [T37] = % [T38] = - @ 17397 == . R @ : @

[T41] =110, [T42] =27, [T43] = -6, [T44] =-3

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXKXXKXX KX XXX KKXXKX KKK KK XKX XXX KL XXX XXX KX KKK KXXKXMS /1-6400301-00056XX
TrigonometryExercise Answers for ID 645123

[T1]=0,  [T2]=0, [T3]=n,  [T4]=n,  [T5]= 37“

76 —3—n 17, - T8 - T9 < T10, —4—n
[]_2> []_27 []_27 []_37 [ ]_3
T11 ek Ti2 _2in Ti3 _3r T4 1z Ti5 -
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 H [ ] - 4
Ti6 —ﬂ T17 —ﬁ T18 —S—T[ T19] = Hr 120 _Z
rej==r-, [I07]==~  [T§ == 7 [TI9] === [T20] ="
[T21] =0, [T22] =1, [T23] ="undefined", [T24] =1, [T25] =1, ,@
[T26] =0,  [T27] =0,  [T28] ="undefined",  [T29] = % [T30] =— @ , @
[T31] =A3,  [T32] = @ [T33] =— @ [T34] =— @ [T35] =1, @
[T36] =1, [T37]:—@, [T38]=%, [T39] =43, [T40]=@, @
[T41] =-47,  [T42] =-114,  [T43] =-39,  [T44] =10
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TrigonometryExercise Answers for ID 645124

[Tl]=n,  [T2]=0, [T3]=m,  [T4]=0,  [T5] :%
T6] = 7] == 78] =L 107 =21 T10] =—
[ ] - 2 > [ ] - 27 [ ] - 2 s [ ] - 3 > [ ] - 3
iy =L 12 = 2% T13) =% T4 =L TI5] =~
[ ] - 3 B [ ] - 3 B [ ] - 4 B [ ] - 4 > [ ] - 4
T16) =~ T17] == T18) == 7107 =1 20 =2
[ ]_ 4 > [ ] - 6’ [ ] - 6 H [ ] - 6 ] [ ] - 6
[T21] =0,  [T22] =1,  [T23] =-1,  [T24] ="undefined",  [T25] =0, @
[T26] =-1,  [T27] ="undefined",  [T28] =0,  [T29] _—@, [T30]:%, @
[T31] =2,  [T32] =43, [T33]:—@, [T34]:@, [T35] =1, @
[T36] =2, [T37] =—£, [T38] :%, [T39] =43, [T40]:—#, @
[T41] =37,  [T42] =33,  [T43] =-42,  [T44] =-11

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKXXKXKKXXKX KKK KK XKX XXX KL XXX XXX KX KKK KXXKKMS /1-6400301-00058%XX
TrigonometryExercise Answers for ID 645125

3
[Tl] ==, [T2] ==, [T3] =0, [T4] =0, [T5]=TTE
[T6] SEL [T7] T [T8] T [T9] _in [T10] _on
T2 T T T3 T3
Til _ar T12] == Ti3 _2n Ti4 EL T15] =—
[]—3, []—3, []—4, []—4, []—4
K 5w K T 117
[T16] =——, [T17] =—, [T18] =—, [T19] =—, [T20] =
4 6 6 6
"0
[T21] =-1, [T22] =0, [T23] =0, [T24] = "undefined", [T25] =0, -—
[T26] = -1, [T27] = "undefined",

5

[T28] = "undefined",

[T29] = % [T30] =— £ , @
[T31] =A3,  [T32] =—¥, [T33] =—@, [T34] :—@, [T35] =1, ﬂ
[T36] =2, [T37] = ;1 [T38] = @ [T39] =2, [T40] =43, ﬂ
[T41] =-5,  [T42] =-12,
X [Page = 0029]

"/
[T43] = -1,

[T44] =-105
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TrigonometryExercise Answers for ID 645126

[TI] =0, [T2] =m, [T3] =m, [T4] =0, []“5]:377.E
[rej==.  [T7]=—,  [T8] == []_3 [T10] ==
iy =2Z iy -z Ti3] =— T14] <L~ -
[TH]==r, [T ==, [TI3]=",  [TH4]=—1  [TI5]=
1 . s U S PR L
[T16] ==, [TI7] =" [T18] === [T19] == [T20] =
[T21] =0,  [T22]=-1,  [T23]=0,  [T24]=-1,  [T25] =1, @
[T26] =0,  [T27] ="undefined",  /[T28] =1, [T29]_§, [T30]:%, @
[T31] =2, [T32]=@, [T33]=—@, [T34]:@, [T35] =1, @
[T36] =1, [T37]:—@, [T38]=%, [T39] =43, [T40]:@, ﬂ
[T41] = -33, [T42] =20,

/
[T43] = -19,

[T44] =3
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TrigonometryExercise Answers for ID 645127

[T]] =, [T2] =m, [T3] =0, [T4] =0, [T5]:§
T6 3— T7 —3—n T8 z 79 _4_7: TI10 —ﬁ
[]—2 []—2, []—2 []—3, []—3
T11 n TI2 = T13 73_7r Ti4 n TiS5 77_7r
[]—3 []—3, []—4, []—4 []4
b4 b S5n 77: IIm
[/T16] :X [T17] =—, [T18] :7, [T19] = . [T20] =
[T21] =-1, [T22] =0, /T23] = "undefined", [T24] =-1 [T25] =-1 ,@
[T26] =0, [T27] =0, [/T28] = "undefined", [T29] —% [T30] = —@, ,@
[T31]:#, [T32]:«/§, [T33]:—£, [T34]—@, [T35]=«/E, @
[T36]:—«/5, [T37]=i [T38]:—@, [T39]:—%, [T40]:«/g, ﬂ
[T41] =19, [T42] =-
X [Page = 0030]

*
[T43] =9,  [T44] =-9
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TrigonometryExercise Answers for ID 645128

[TI] =0, [T2] =m, [T3] =m, [T4] =0, [’]‘5]:377.E

3n

T6 = T7 T8 T 79 T T10, —4—n
[]—27 []—2 []—2, []—3, [ ]—3
Tl —S—T[ Ti2 2—n Ti3 —5— Ti4 T Ti5 —7—7[
[]—3, []—3 []—4, []—4, []—4
3n S5n K T I1xw
[T16] =——, [T17] =—, [T18] =—, [T19] =—, [T20] =
4 6 6 6
[T21] =0, [T22] =-1, [T23] =1, [T24] ="undefined", [T25] =1, ,@
[T26] =0, [T27] =0, [/T28] = "undefined", [T29] —%, [T30] ——@, ,@
[T31]:@, [T32]:1/;, [T33]:—@, [T34] :g [T35] =1, ,i

[T36] =2, [T37] = % [T38] = — @ [T39] =

[T41] =-4,  [T42] =-12, [T43]:, [T44] = 14

\%
[

. [T =

e~
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TrigonometryExercise Answers for ID 645129

[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§

T6, z T7 T8 n T9 —ﬁ T10 I
[]—2 []—2 []—2 []—3, [ ]—3
Tl 74_7r Ti2 n Ti3 n Ti4 i T15 *7—
[]—3 []—3 []—4, []—4 []—4
S5n 1= b 57: T
[T16] :T, [T17] = , [T18] =—. [T19] = [T20] :?
[T21] =-1, [T22] =0, /T23] ="undefined", [/T24] = "undefined", [T25] =0, s £
/3 1 ol
[T26] =1, [T27] =0, [T28] =-1, [T29] =——, [T30] :E° ,7
[T3]]:«/;, [T32] =-2, [T33]=@, [T34]:—£, [T35]=«/E, ﬂ
[T36] =1, [T37]:§, [T38]=%, [T39] =-2, [T40]=@, @

[T41] =7,  [T42] =7,  [T43]=-2,  [T44]=-

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXXKXKXKXKXKXKXKKKXKXKXKXKXKXKXKKKXKKXKXKKKXKKXKXKXKKX KX KX KKK KX KXKKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXXXXXKXXXX XX KX XXX XX XXKXXXXXM5/1-6400301-00063XX
TrigonometryExercise Answers for ID 645130

[T]] ==, [T2] =0, [T3] =0, [T4] ==, []“5]:377.E

3n ud ud Rkl 4n

[T6] == [T7] =, [T8] ==, [T9] == [TI0] ==
r 2n ar i EX
[T11] = 3 [T12] = P [T13] = e [T14] = e [T15] = 7
b 5w Tn 1= b
[TI6] =7 [T17]:?, [TISJ:T, [T19] = . [T20] =—

[T21] =0,  [T22]=-1,  [T23]=-1,  [T24]=0,  [T25] =0,

>

e

[T26] =-1,  [T27] =0,  [T28] =1,  [T29] = @ [T30] = % , @
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